ECN 3890

Spring 2007
Review Questions for Exam 2

Make sure that you study old homework problems as well.
Chapter 4

Questions from chapter: 1, 2(a-c), 3, 5, 6

Graph a short-run production function (total product curve) and demonstrate the relationship between total product and marginal product.

Explain how marginal revenue product is derived.  Why is the MRP curve the firm’s short-run demand for labor?  Explain how and why the labor demand curves of a perfectly competitive seller and an imperfectly competitive seller differ.

The Whatsa Widget Company has a monopoly in the sale of widgets.  The following table contains production and product demand data for this firm: 

	L
	Q
	MP
	P
	TR
	MR
	MRP

	0
	0
	
	$4.50
	
	
	

	1
	10
	
	3.00
	
	
	

	2
	18
	
	2.50
	
	
	

	3
	24
	
	2.00
	
	
	

	4
	28
	
	1.50
	
	
	

	5
	30
	
	1.00
	
	
	



a.)
Fill in the table above.


b.)
Suppose that the firm hires labor in a perfectly competitive market at a wage of $9.  How many workers should the firm hire to maximize profit?  Why?

Suppose that labor demand is given by the equation: L = 50 – 2W, where L = number of workers demanded and W = wage rate.

(a) Calculate the elasticity of demand at a wage of $5.  How would your answer be different for a wage of $20?

(b) What does your answer in (a) imply about how the wage elasticity varies along the demand curve?

(c) Calculate the change in the firm’s wage bill as the wage changes from $5 to $6.  Do the same for the change in wage from $20 to $21.  What relationship do you find between the firm’s wage bill and the wage elasticity of labor demand?

Why is the short-run demand curve for labor downward sloping?

The marginal revenue product of labor at a local sawmill is MRPL = 20 – 0.5L, where L = number of workers.  If the wage of workers is $10 (and labor is hired in a perfectly competitive labor market), how many workers should the sawmill hire to maximize profit?

Chapter 5

Questions from end of chapter: 1, 2, 3, 7
Briefly explain how the following programs would affect the elasticity of demand for workers in the steel industry:

(a) an increased tariff on imported steel

(b) a law making it illegal for a firm to lay off workers for economic reasons (recession)

(c) a boom in the machinery industry (which uses steel as an input)

Suppose that the wage increases.  Show (using an isoquant/isocost diagram) that in the long run the firm will hire fewer workers.  Decompose the employment change into substitution and scale effects.  Make sure that you can explain what each effect measures.

What factors determine the elasticity of labor demand?

What happens to the firm’s long-run demand for labor if the demand for the firm’s output increases?  What happens to the firm’s long-run demand for labor if the price of capital increases?  (Make sure that you can decompose these changes into scale and substitution effects.)

Referring to scale and substitution effects, explain why an increase in the wage rate for autoworkers will generate more of a negative employment response in the long run than in the short run.

Explain why isoquants for inputs that are substitutes in production are (a) negatively sloped, (b) convex, and (c) never intersect.

Explain how each of the following would shift an isocost line:

(a) a decrease in the price of labor

(b) a simultaneous and proportionate increase in the prices of labor and capital

(c) a decrease in total expenditure from $150 to $120

Explain graphically how the isocost/isoquant diagram can be used to derive both the short-run and long-run demand curves for labor.  Make sure that you distinguish between scale and substitution effects.

Indicate whether you believe that the demand for labor is relatively elastic or relatively inelastic for each of the following groups of workers.  Make sure that you can use the laws of derived demand to explain your answer.

(a) computer programmers

(b) economics professors

(c) airline pilots

(d) surgical nurses

(e) star basketball centers

(f) day-care center attendants

